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@With special clasp ideal for thin plate, round bar and square lumber.
@The reverse of the clasp to be used as a flat clasp.
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Size(mmm)
it el e le el s llc Clidr:i(m}ce
V25 50 | 61 | 55 | 32 | 53 | 145 | 275 3
TV-26 65 76 70 32 53 170 275 4
V27 75 | 84 | 78 | 38 | 62 1815 | 33 5

TN-01W~05W

@ Light weight, durable and well-balanced frame design.

@ Wooden handle is shaped for sure and comfortable grip.

@ Saw frame is designed to be adjustable in length and capable
of using even broken pieces of saw blades. (TN-04W/05W)

( @ The ideal saw blades made of -
i SKS special steel alloy with the ;
- technological know-how. TN-17
@ Entirely heat treated, best quality
. saw blades available. el Nor_rlinal HadaThick | Notches/
Item No.| Frame Size (WxD)  [Weightlg] Size (mm) 25mm
P TN-OIW | 125%75mm 135 TN | #3/0 |04 | 6
o / Tnoaw [ ixismm | 160 TN12 | #2/0 | 026 | 56
- 4 TN-03W | 110275 mm 215 TN-I3 | #0028 | 535
TN-OAW | ~145x75mm 170 TN-14 | 0.30 51
-
TN-05W | ~145x125mm 190 TN-IS | #2034 e
oW/ TN03W TN-05W AL A - A
W CiFrame length adjustable(TN-04W/05W)) Lo L -
TN-18 | #5 | 040 | 355

TM-04 - 05

¢ . STEEL RULE

TM-04
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PO, v UL AN P, 2 A

*¢ . JEWELLER'S SAW

@ Blade contained

e
TF-07

TF-10

FILE

Itern No. _|Shape | Length(m) Grip
TF-06 ]
TF-07 O 200 Rubber
TF-10 =

LLRIETER ™. SAWBLADES

@ Applications: Aluminum, Brass,
Sheetmetal, etc.

TN-17 (standard) @ Overall length: 130mm

TN-13&15 (spare)

17-02-04

«*2 . HANDY SAW

TZ-02 Adjustable blade

Item Mo Blade Size Shape Length

TZ-02 | 250mm24notches Plastic Grip 260mm

ftem No. | Scale
TM-04 15 am
TM-05 30 am

TZ-05+13 %7 .. SCRIBER

@Metal work to mark a point or draw a line on the workpiece.

SCRIBER
TZ-05
®210mm

CARBIDE SCRIBING PEN

TZ-13

@138mm

@Retractable tip
for safe storage

and carrying

@Replacement blade  [TZ-04 | (12pcs/dozen)

17-07-14

PUNCH

PUNCH AUTO CENTER PUNCH
TZ-07 TZ-14
@®100mm @138mm

@Carbide tip

@Press down the tip
to punch a hole
automatically.
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